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ER| 1 8:03 | RUN (#29 #E 8 | K|# nE G 14| 6
EB| 2 1:32 | RUN [#12 5K 6 K | #6 &8 G 21| 6
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Q| No | TOGO|PLAY PLAYERS Y—F| 8 No |fZi TOGO| PLAY  PLAYERS Y—F| 58

il 118 5 5 | RUN | HBi% 4 | x 1|8 23| 12 | PASS | &HH — - %

2 |B 49 | 3 [PAsS| & — — | x 2 |8 7| 8| RUN | uis 4| x

3 (8 42| 4 |RUN| #RE 9| O 3|8 3| 5| RUIN [ EF 2 | x

2| 4 | 15 | 7 | RUN| K 16| O 4 (B 33| 10| RUN it -6 [ x

5 (8 4 4 | RUN | #5K 4| © 5 [ 44| 19 | PASS | &FH - = %

3 6 [ 39 | 2 | RUN| K -3 x 6 (B 24| 2 [PASs| & - - | %

7 [ 42 | 5 |PASS| i — M | 29| O 7|8 10| 5 | PASS it - &@H |1 x

8 (B 47 4 | RUN | k& 3| x 8 (A 44| 5 RUN | BTS 9| O

4 9 | 38 | 5 |PASS| &2 — & | 14| O 9 | 42| 5 |PASS| &£ - BEX| 8| O

10 |@ 48 | 10 | RUN | {4 5 | x 10 [ 27| 3 | RUN | Xi# 8| O

1 |% 15| 6 | RUN | LR 0| x

mg | 10 [msm| s [mw=] s0.0s RN EEE
AT TORINE  RAER-EsEEA

Q| No | TOGO|PLAY PLAYERS Y—K| @R No |z TOGO| PLAY  PLAYERS Y—k| R

il 118 1 1 | RUN| #E 1] © 1% 15[ 6 | RUN | EF -4 | x
4 2 |8 43 | 5 | RUN| {8k -6 | x
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Q | BASEESRA | AR TESRT | RARM [ MTL— | BAME |[JL—%| Y% | #TEE #®E  |[EEv—r
1 | 10:46 8:50 | 1:56 KO H-6 4 0 H-0 ™
7:14 6:03 | 1:11 PUNT % - 44 4 0 B - 49 PUNT 7
4:03 3:57 | 0:06 PUNT H-8 1 0 H-0 ™ 8
2:02 0:00 — PUNT #-3 | — | - | B-33 - -
2 | 12:00 10:28 | 3:34 - B -33 9 4 H-0 ™ 65
8:48 6:33 | 2:15 PUNT % - 30 7 4 H-0 ™ 70
4:32 0:26 | 4:06 PUNT E-12 | 1 4 H-0 ™ 88
3 | 10:06 8:01 2:05 PUNT % - 31 4 0 ik - 36 PUNT 5
6:15 3:47 | 2:28 PUNT % - 37 5 2 H-0 ™ 63
3:20 0:36 | 2:44 INT % - 20 6 1 B - 44 PUNT 36
4 | 4:39 0:00 | 4:39 | 4DOWN | % - 19 8 2 B - 49 END 32
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3:34 3:20 0:14 KO E-5 2 0 %k -5 INT 0
0:36 0:00 -— PUNT A -2 — | - B8-2 - —
4 | 12:00 4:39 | 7:57 - H-20 | 16 5 | % -19 | 4DOWN 79
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